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(also known as its Taylor series
,€4, ¢ and c;.
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| Assuming that a polar equation is given in the
2 formula for the derivative dy/dx.
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uwdumm r=
_ﬁﬁm Use tick marks at unit intervals on

length scale.
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Question 11. Given vectors u = (2,5) and v = (3,4):

a. (3 points) Find 2u — v,

B1) 85— L3 0> =48> = 43, W
I

b. (3 points) Find |u|,
MY = ,51-\.*1'5 b \520\ X

c. (3 points) Find a vector of length 2 in the direction of direction _9f V.

il
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d. (2 points) Express u asa combination of the unit vectors i and j.

Ww=2:4 S3,
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) the scalar projection of (1,2,3) onto (4, ~2,1).
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